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Showing Distance with a Numberline
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X . . . . . . ) S i N
— (qV] (90] n [{e] o] ()] — — —
o o o o o o o o o o o o o
||>..2 I3V I3V ||>..2 I3V I3V ||>..2 I3V I3V ||>..2 ||>..2 I3V ||>..2
1w To) To) 1w To) To) i T To) To) i T 1w To) i T
T~ — — T — — T — — T T~ — T
Jdo o o Jdo o o do o o do Jdo o do
T — — T — — T — — T T — T
40 o) Ty} 40 o) To) 40 o) o) 40 —+ 0 o) 40
m 1 1 I I 1 I
el e =) o o . =) o o ) o o ) e =) o )
m 1 1 I I 1 I
- i Iy o o) i Ty o o) i T, o o i T, i Iy o i T,
1 1 1 1 1 1 1 1 1 1 1 1 1
o —— —— —— —— —— ——
.m —— —— —— —— —— ——
g I I I I I I
P T o o o To o o T o o o T o T o o T o
= 7 R 7 R n A . A
< I I I I I I
o T o) To) T o) To) Tuw o) o) Tuw T o) Tuw
— i — — — i — — — ] — — — i — i — — ]
W — 1 1 1 — 1 1 1 — 1 1 1 — 1 — 1 1 — 1
o] I I I I I I
o To o o To o o To o o To TOo o To
g ¥ 3 DL 3 A N NI A A A
4 go] go] go] - go] go] - go] go]
o= ie] © o
= g 2 2 5 5 S S 5 S S 2 5 &
T o e o © — N ™ — ™ o
b 1 8 4 1 1 1 1 1 1 1 1 2 1 1 d
E ®op ] 8 g 8 1o I ® ® ~ ® © 8/ | 8 o ® o B g
2 §x k- FEz Ez E=z §Ez Ez Em §s Ez Em Em &
[ i) i} © i) i} e i) i) e ie) i} e} ©
2 B8 n 8 n 3 n 8 n 8 n 3 n 3 n n 3 B 3 n 8 n 8 h &
=
B = =) ~ ™ Ea () © < © ) (=) = )
S5 W — — —

1-10 | 92|83 75|67 [58[50] 4233|2517 |

11-12| 8 | O

[ M ath ] www.CommonCoreSheets.com




<]
o o o N |
” = | ™ ™ P R n_u_u S ~| S ! 9
> © I I I I I I I I 1 I [l
(b) — N N 37
x| 3 ] B Il I e B = 14 I o
c o I S i A A ol Al I NS B B N -
- +
of< + ol R QP | N D 4 | m 9 &l
W (0] < 1 ! ! 1 1 — =
n 0|
; . . . N~
M | - N o < 0 o N o o =] ! q €|
[Te]
N~
) 8|
= 48 Q Q 48 Q Q 4 Q Q 4 48 Q 48 |8
p T T T T T T
1w To) To) 1w To) To) i T To) To) i T 1w To) T |74
T — — T — — T — — T T — T
Jdo o o Jdo o o do o o do Jdo o do
o T — — T — — T — — T T — T
Q T T T T T T
= T T T T T I |<
MW —tL0) Lo Lo —tL0) Lo Lo —_tL0 Kp] Kp] —_tL0 —tL0) Kp] —_—tL0
c I I I I I T
S|lo T T T + 1 1
nNa m —t O o o —t— O o o —t OO o o —t O —t O o —t O
clo + + + + + + e
= + -+ + + + -+ 5
= i o e ot w L 0 w o s o Juo | g
m m T T T T T T m
.qw hl TO o o TO o o TO o o TO TO o TO m
alg “F7 = . = . = A . < TI% | §
O I I I I I I =
ol = 4 4 4 4 4 4 Q
m % Tw Lo Lo Tw Lo Lo T Lo L0 T T L0 T m
= = i o o i o o b o 3 oI oI - oI S
(@] 4 4 4 4 4 4
= I T T T I T )
% |m TOo o o TO o o TO o o T O TOo o T O W
S AN N o AN N N B AN N N B AN AN N AN
8 4 4
c © o) S © © © © © © © S ©
= & = = & & & & & & & = & ~
B o ® < 1o o © 1__ o 3¢ 1__ ~ 3¢ g - -
o0 — O
E me M1__ m1_ m5 m5 ms mq mﬁ_v mu mn mg mm mm T
[ © ie] o © ie] ie) © je] e ie) i} e} ©
T 38 B8 &8 &8 &8 &% 48 &8 &8 &8 &8 &% 48 |2
m x 4 N ™ < T3) © < o) o) S 9 q — _




	Worksheet
	Answer Key

